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Answers and commentaries

The question numbers in this resource reflect the question numbers from the original papers and
match the question numbers in the corresponding 2021 assessment materials

Question 5 (b)

Please see the mark scheme

Question 8 (a)

No examples available.

Commentary

The first mark is for selecting the correct two cards. The second mark is for adding whichever two
cards they pick correctly. If the student just gives the answer of 9 or 9.0 and leaves the cards
blank then they will score 1 mark.

Question 8 (b)

No examples available.

Commentary

Again, there is one mark for selecting the correct two cards but this time they also must be in the
correct order. The second mark is for the right answer or the correct follow through answer. A
common error would be 0.27 — 8.6 = 8.33 which scores BOB1.
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Question 9 (a)

9 (a) Write down all the factors of 18

[2 marks]
Answer
Student A
14 (s
9 (a) Write down all the factors of 18 r = /\c\
[2 marks]
2 Q @ 7\
B 1 (§){,3)
Bhanswer  2,9,3,>.  ©

Commentary
The student gives three correct factors with no incorrect factors. The Additional Guidance says to
ignore repeats for 1 mark.

1 mark
Student B
9 (a) Write down all the factors of 18
[2 marks]
B 1
/
Answer 2_; ?’, qlf é{, qi
Commentary
The student gives five correct factors with one incorrect.
1 mark
Student C
&
9 (a) Write down all the factors of 18
[2 marks]

Answer Z )_(:?_?CB- BO

Commentary
There are only two factors given with one repeated so this is insufficient for a mark.
0 marks
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Question 5 (a)

5 (a) Work out 3645+179-208
[2 marks]

Answer

Student A

e D
5 (a) Work out MZ.DB P
_ QL4-5,
gl
_an g by
e’ & B
504 & o

Answer (50K S¥e-4r g i

Commentary

There are two methods shown but the given answer comes from the right-hand method so that is
the one that is marked. The student correctly adds the first two decimals for the first mark but then
makes a common error in the subtraction.

1 mark
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Student B
5 (a) Work out 3645+179-2.08
%% [2 marks]

Commentary

The student has misread 17.9 as 19.9 so there are two ways to mark this answer. The firstis to
count it as a misread and the student has done everything correctly so would score 2 marks but
loses 1 for the misread. The second is to ignore the misread and give BO for the answer to the first
calculation but then award B1 for the correct follow through subtraction. Either way it is one mark.
1 mark
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Question 7

7 Amy and Brad each have some money.
Carly has no money.
Amy gives £7 to Carly.
Brad gives £5 to Carly.

Now they all have the same amount of money.

How much money did Amy have to begin with?
[2 marks]

Answer £
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Student A

7 Amy and Brad each have some money.
| Carly has no money.

Amy gives £7 to Carly.

Brad gives £5 to Carly.

Now they all have the same amount of money.

How much money did Amy have to begin with?

1a8 4z

etV E ML [0
"y

Brod-v 12 v 57 il

[2 marks]

2
Answer £ l g. e
Commentary
Despite the incorrect working for Brad, the amount for Amy is correct.
2 marks
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Student B
7 Amy and Brad each have some money.

Carly has no money.
Amy gives £7 to Carly.
Brad gives £5 to Carly.

Now they all have the same amount of money.

How much maney did Amy have to begin with?
[2 marks]
8- 7

]}7'!'%1‘5-\.\ ?)Am:;)_ W:ll

Answer £ |Q A0

Commentary

The correct method for Carly is seen even though an arithmetic error follows, so the student gains
the first mark.

1 mark

Question 7 (a)

Please see the mark scheme
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Question 8

B Sam, Carl and Enk share 40 sweets.

Erik gets the largest share.

What is the smallest possible number of sweets that Enk could get?

[2 marks]
Answer
Student A
8 Sam, Bafknd Erik share 40 sweets.
Erik gets the largest share. '

What is the smallest possible number of sweets that Erik could get?
= & ¢ [2 marks]

Answer 3
Commentary

The student has referred to 30, 5 and 5, which total 40, so scores the first mark by Alternative
method 2.
1 mark
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Student B
8 Sam, Carl and Erik share 40 sweets.

Erik gets the largest share.

What is the smallest possible number of sweets that Erik could get?
[2 marks]

, 2

1y
= Yo~ 2 314@.‘%

M1

"5()!717‘“-\1
A7 el
Eric-16

Answer \‘ 3

Commentary

The student either scores 1 mark for the calculation 40 + 3 shown or 1 mark for three numbers that
total 40. The Additional Guidance instructs us to use the scheme that awards the better mark so
these would not be considered a choice of method here.

1 mark

Question 13

Please see the mark scheme
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Question 9

9 The time in Rio is three hours behind London.
The time in New York is five hours behind London.

What is the time in New York when it is 1.00 am in Rio?

[2 marks]
Answer
Student A
9 The time in Rio is three hours behind London.
The time in New York is five hours behind London.
What is the time in New York when it is 1.00 am in Rio?
[2 marks]

) OBV [
.S ﬁ' GO M 1
2.0 1°00

Answer 31’ OU A0

Commentary
The student shows 4 which scores 1 mark as long as it is not linked with one of the other places.
1 mark
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Student B
9 The time in Rio is three hours behind London.

The time in New York is five hours behind London,

What is the time in New York when itis 1.00 am in Rio?
[2 marks]

.00 2aa i N1 .00 G L
e
1_,,\*“‘3":-1 M 1
.00 gm = W2 OOlom —1 2
=S OOEw

Answer A\ ]-Z/“)-CJO'M AO

Commentary

There is a choice of answers on the answer line. 11pm scores 2 marks but 23.00pm only scores 1
mark (see Additional Guidance) so we would award the lower mark.

1 mark

Question 16

No examples available

Commentary
Please see the Additional Guidance on the mark scheme for four marked solutions.
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Question 12

Please see the mark scheme

Question 21

21 Billy wants to buy these tickets for a show.
4 adult tickets at £15 each
2 child tickets at £10 each

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
[5 marks]

Answer £
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Student A
21 Billy wants to buy these tickets for a show.

4 adult tickels at £15 each
2 chiid tickets at £10 each

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
[5 marks]

| \ S -4lo=p1>

VS o WRBILL 4.
} T6 +L_I.;_:J
'S Lo tdbo- (o
12 © To
Lo
Answer £ J O

Commentary
The student has worked out the price of the adult tickets, the price of the child tickets and the total.

Any one of these would gain the first mark. However, no correct percentage work is seen.
1 mark
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Student B

21 Billy wants to buy these tickets for a show.
4 adult tickets at £15 each
2 child tickets at £10 each

A 10% bocking fee is added o the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
[5 marks]

100 ¥, : 1S 2 10%. 2140

1oQs =10 10%. = 016100
UGTD  §16.50
L5 A O

100 : 16.50 7/ 100z ||
| */5:90.368 17.: 0.1
Abviorle Dlg Duatsii vl £0.33
T D S HS
Answere 2% -3
16 9%
o33
—
*%.3 b
Commentary

Using Alternative method 2, the student has correctly worked out 10% of £15 and of £10 for the
first mark. Then they have added this on to the original prices and shown the correct totals for both
types of ticket for the second mark. The student has correctly worked out 3% of £11 but there is
an error in the working for 3% of £16.50 (1% is correct but then the student truncates before
adding). Both methods or answers are needed for the third mark. The next mark is dependent so
no more marks can be gained.

2 marks

Copyright © 2021 AQA and its licensors. All rights reserved. 14 of 21



Student C

21 Billy wants to buy these tickets for a show.
‘4 adult tickets at £15 each
2 child tickets at E10 each
A 10% booking fee is added to the ticket price.
Work out the total charge for these tickets when paying by credit card.
5 mark!]
" :
LB A/ 1S
A
Hg,), FEBEO - U aotub Hickets
~ ¥
feo— CYTC BICIREES
SH0
] Y$A0
= Cor—adutrang——
T Chitd (U orer 2}
; H £8E  (+ fea)
B ATALR O—1rhg
FYETG I
{00 7. = 8O
\ Q% = %
l% =0 % Answer £ 3&-52“,
3% O vy
0-8 x
3
O 2tk
Commentary

The student has used Alternative method 1 and their working is correct as far as £88 so scores the
first 3 marks. However, they then work out 3% of 80 rather than 88 so cannot gain any more
marks. Note that even though their result for 3% is incorrect (it should have been £2.40 not 24p),
they did show the full method so had they used £88 would have gained the fourth mark.

3 marks

Copyright © 2021 AQA and its licensors. All rights reserved. 15 of 21



Question 20

20 Work out V121 —(13-5x2)?
[3 marks]
Answer
Student A ‘ '
20 Work out V121 -(13-5%2* B 1O ;_«Mﬂﬁunmtt-
mz\m Ry [3 marks]
(5~5x2)=8 » 33 - Q. ,,
B O 2.\ =

¥-9- -2

Answer o 2,

Commentary

The student loses the first mark because they think that the square root of 121 is 7. However, they
have the correct method for the bracket and their answer follows through from their incorrect
square root, so they gain the second and third marks.

2 marks
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Student B

20 Work out V121 = (13-5x2)°
[3 marks]

ez = 1) B1 I\~ U_b_'sxz)l

({-35-7% -
- Bx2=(C 11 -256 =
(6°=29C _

W0

Answer s 26 3

Commentary
The student gains the first mark for 11. They use the incorrect order of operations in the bracket

so lose the second mark. Even if they had subtracted 11 — 256 correctly, there would be no follow
through available for the last mark because they did not gain the M mark.
1 mark
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Student C

&L
L
20 Work out V121 - (13 -5 x 2)?

0o
-

[3 marks]

Answer r?_,

Commentary

11 is written above the square root and scores the first mark. 13 — 10 scores the middle mark
despite their incorrect evaluation. The final answer follows from clearly incorrect arithmetic so this

loses the last mark.
2 marks

Copyright © 2021 AQA and its licensors. All rights reserved.

18 of 21



Question 25

25 Work out 81+ 2g
2 3
Give your answer as a mixed number.
[4 marks]
Student A
25 Workout 8- +22
2 3
Give your answer as a mixed number.
[4 marks]

: 2
o + 243 VR WA

[
» E ]
b
|
\lo
X
N
1

18
B

Bft
Answer 2 ’/AL

7

Commentary

The first two marks in the scheme are independent so the student can gain the second mark
without the first. Here the student has converted both fractions incorrectly but then knows to invert
and multiply so scores the second mark. The accuracy has been lost so they cannot gain the third
mark, however the student does correctly convert their answer to a mixed number so gains the
fourth mark.

2 marks
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Student B
25 Workout  81:22
-

Give your answer as a mixed number.
[4 marks]

2
Answer 2 2.7

Commentary
The student has the correct method for the first two marks in line 1. However they then work out

the answer incorrectly so lose the third mark. The final mark is gained for the correct conversion of

their fraction to a mixed number.
3 marks

Copyright © 2021 AQA and its licensors. All rights reserved. 20 of 21



Student C

1o 70

25 Workout 81+ 22

2 3 7

Give your answer as a mixed number.
= [4 marks]

Bxz24+) =49 e

—

1 =

i . E
= 2__ : 3
2 é e é M_0O
S o e M—0
.. B 56
a
Answer _ﬁ_é

Commentary

The student gains the first mark for either of the first two fractions. When the student inverts and
multiplies they invert both fractions, so this loses the second and third marks. Their answer is not
an improper fraction so they cannot gain the B mark for conversion to a mixed number.

1 mark

Question 20

Please see the mark scheme
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